Q29. The voltage output of an AC source is given by: v = 300 sin  t. The average r.m.s current
and r.m.s voltage in the circuit is connected to a 10 €2 resistor are:
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Q30. The inductive reactance XJ and the capacitive reactance Xc are respectively given by:
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Q31. A capacitor of 5 pF is connected to the terminals of a 50Hz AC source whose average value
of voltage (r.m.s voltage) is 100 V. The average value of current (r.m.s current) in this circuit is:
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Q27-A sgries RLC circuit is connected to AC source of v(z) = 400 sin (345t ) and
it) = 5 sin(345t -1.317) if L=0.5 H and R= 20 Q, the total impedance of the circuit
equals to: (* what is inside the sine is given in the unit of Radian)

A) 2000 ..132 80 ' - O) 40 D) 100
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Q28- I, of the current in the circuit of Q27 equals to:

73 3.53 "B)S5 C) 7.07 D) 282.8
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Q29- The frequency (f) of the AC source in the circuit of Q27 equal to:

A) 50 Hz (Dssm: ) = C60H: D) 90 Hz
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Q30- Phase angle between the current and voltage of Q27 equal to: T

A) 87.3° fBB BS" C) 60.2° D) 55°
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Q31: The Inductive Impedance Xy, of the circuit equals to:

A) 0.5 B) 150.3 | @ D) 345.7
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Q32- The maximum voltage across the capacitor in the circuit of Q27 equal to:

A) 562 { By476 ) - C) 250 | D) 125
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Q28- A series RLC circuit of AC voltage v(z) = 150 sin (367.8 ¢) and maximum current
— 2 A If X;=200Q , Xc=250Q, the total impedance of the circuit equals to:

Inax

D)314Q

A)4500Q B) 55.90
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Q29- The value of R in the circuit of Q28 equal to:

A)450Q X

C)75Q D)314Q
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Q30- The maximum voltage across the capacitor in the circuit of Q28 equal to:

A)150 ¥ B)220 V C) 400 V
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Q31- The frequency of the AC source in.the circuit of Q28 equal to: '

A)314 Hz B) 100 Hz

42 '37 D) 50 Hz
-
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Q32- Lms of the current in the circuit of Q28 equals to:

B)2 C)3.14 D) 0.707
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Q31- The frequency (f) of the AC source is: e f Al a3 5 23]
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Q32- The resonance angular frequency (o) is:

A)0.5 B) 0.707 C)1.414 D)2
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Q33- The circuit impedance (Z) 1s:

A)6 B)3 - 566 ) D)333

- The power factor equals:
A) 091 B) 0.455 C) 24.5 D) 323
e
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Q35- In an AC circuit having only one component in addition to the alternating source, if the
phase angle ¢ is positive, this infers that the component is:

A) Resistor B) Inductor C) Capacitor D) Battery
e
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Q30- When voltage and current are in phase in an AC circuit, which of the following is mn its
maximum value?

A) Impedance Z B) inductive Reactance i, ~ C) Resistance R D) Power p
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Q30 The frequency (1) of the AC source is:
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Q31- The resonance angular frequency (w,) is:

. B) 33.33 - C)2.4 D) 1.55
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Q32- The circuit total impedance (Z) is:

b Bl (R ylae) Aadles 3200

'A)0.08 B) 0.01

Q33- The power factor as a function of the phase angle d1fference @ 1s:

A) sin(p) . _ C) tan(p) | D) cot(9)

Q34- The maximum current (Inax):

lep samatll il 3as 34

A) 80 B) 66

Q35- The maximum voltage across the resistor is:
A) 10 B)12.4
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source is:

P—|

f\} 5 mF 20 mH
v() = 300 sin(3140 ©)

A)300 ( B)3140 ) © ©) 1000 D) 500

030- The angular frequency (®) of the AC
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Q31- The resonance angular frequency (w,) is:
A)0.001 B) 10000 C)0.1 | D) 100
v :‘T?_A [ ASJ\A-A) 1—'—-‘\-“ —32’.)"
Q32- The circuit total impedance (Z) is:
" B)0.065 C) 10 D) 73.5
_ « ga 58l Jalna =330
Q33- The power factor equals: |

A) 0.864 B) 0.136 ( C) 0.157 ; D) 0.843
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Q34- The maximum current (Tt |
A) 30 B)212 ( C)4.7 J D)3.32
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Q35- The phase angle between the voltage and current equals: Dt

A)9° lB) 83.7° C)63° /D) g1 J
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W’I‘he frequency (1) of the AC source is
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() = 537.5 sin(753 1)

A) 50 B) 60 C) 100 g/ D) 120 )
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§ Fesonance angular frequency (@) is:

A 500 B) 250000 C) 4x10 8 D) 2x10°
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Q32- The circuit total impe dance (Z) is:

C)15.8 D) 25.7
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Q33- The power factor equals:
A)0.014 B)2

C)0.5 D) 0.986
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Q34- The maximum current (Iq):
A) 268.75 B) 1075 C) 106 D) 53.34
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3. Lhe phase angle between the voltage afid current equals:
A)9.6 B) 80.4 C)4.8 D) 85.2 i




